10

11
(Hels Ha HB R 53 R R
7 7 %( 8 0 %
7 1 %6
(Hels Ha HB R 53 R R
3 9 % 5 0 %(
2.4 %]
C )
H8 67,557
H9 76,180
H8 87,690

~|l |~




18

1 2189 39 3 2380
112
26
2 94 & 196 221
26
1600
3 1P8 138 298
1407
1600
4 347% 196 489
1407
2 000
5 48 9 29 8 78 3
1 822
6
7
8
9
10
11

12




03-56008-6

5
529 1
574 1
1011

190 288 238 2408 2389 2332

1P8 2B6#8 188 2B3 219 233

1P8 2868 188 2B3 219 233

9 &9 9 & 8 20 9 ® 9 B 1 0.0

12 4 208 188

478 309 43 9

8 0 78 12 6

120 13 0 140




B (H2 § H29 H30 R1
18 36 12 16 18 10
12 15 15
R2 R3 R4 R5 R6 R7
1323 18 19 13 18 18
=]
= (H2 9]  H29 H30 R1
12 18 18 15
12 14 1%
R2 R3 R4 R5 R6 R7
18 18 18 18 18 18




03-56008-6

258 69 279 122 130

19 8 19 14 23 94 & 130

378 6,7 B

132 278

19 8 19 14 2 43 9 44 0

729 2 B0 5 BY 9 29 1 0.0

138 1a 48
26 10 38
120 92 6 252
43 43 20

72




(H2 § H29 H30 R1
34 6 34 8 39 6
R2 R3 R4 RS R6 R7
=
(H2 § H29 H30 R1
20 3 24 25 26 27
24 28 26
R2 R3 R4 R5 R6 R7
28 29 30 30 30 30




11

03-56149 -7

D 3

11 1
10

2@6 19 1P9 183 1238 239
31 = 198 142 109 178 1p8 239
0 0 0 0 0 0
0 0 0 0 0 0
78 78 72 738 817 76
186 168 1@ 3 103 108 1% 4
17 9 29 9 29 9 &9 9 a9 9 & 1 0.4
931 92 8 95 8
389 44 8 46 9
24 8 250 251
13 3 11 3 290
738 55 5@




(H2 8]  H29 H30
26 0 23 0 23 0 23 0 23 0
36 8 36 8 36 2
R2 R3 RA R5 R6 R7
26 0 26 0 26 0 26 0 26 0 26 0
=
= "2 9] H29 H30
L0 100 100 100 100
1351 145 120
( R2 R3 R4 R5 R6 R7
1D0 1D0 1D0 1D0 1D0 1D0
=

20




11

03-56149 -7

D 3

16 45
10
30
292 39 2% 6 39 352 203
31 223 222 2652 3@2 347 2903
0 0 0 0 0 0
0 0 0 0 0 0
189 42 36 23 48 30
208 288 248 3@0 3%8 27 6
1T 9 &9 9 MO 9 A9 9 3 9 B9 1 0.0
1B6 182 180
36 8 349 220
3489 65 8 29 6
25 % 3189 130
78 118 15 4




(H2 § H29 H30
260 230 230 230 230
36 3 36 06 36 4
R2 R3 R4 RS R6 R7
260 260 260 260 260 260
=
B (H2 § H29 H30
1D0 1®0 1®0 1®0 1®0
151 145 120
R2 R3 R4 R5 R6 R7
100 100 100 100 100 100




11

03-56149 -7

D 3

03 05
11
10
11 117 1
16
2223 233 12 1231
49 3 48 8 5538 59 3 59 2 64 8
31 42 3 47 8 50 6 498 48 9 648
0 0 0 0 0 0
0 0 0 0 0 0
24 32 33 32 29 33
42 5 47 8 50 3 49 8 48 B 64 2
17 8 &9 9 BY 9 BY 8 &9 8 BY 1 0.0
28 8 271 338
16 6 190 23 3
28 74 58
19 18 28
9 10 10




(H2 8]  H29 H30
, 2 2 2 2
2 2 2
) R2 R3 R4 R5 R6 R7
2 2 2 2 2 2
=
"2 9] H29 H30
20 0 20 0 20 0 20 0 20 0
20 8 19 1 18 2
) R2 R3 R4 R5 R6 R7
20 0 20 0 20 0 20 0 20 0 20 0
=

100




